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Homework#3, Mathematical Statistics I, 2013 Fall 

 

 A bivariate random vector ),.( YX  is defined as WUX   and WVY  . 

1. Calculate XY  when )1(~, PoissonVU
iid

, )(~ PoissonW  and WVU ),( . 

2. Calculate 
XY  when )1,0(~, NVU

iid

, ),0(~ 2NW  and WVU ),( . 

3. In the model as above, let bWaUX   and bWaVY  . Find (a, b) such 

that ),.( YX  follows a bivariate normal with 0 YX  , 1 YX   and 

 XY . 

 

 

 Exercise 4.5 

 

 

 In (a) of Exercise 4.5, derive 

(i) ),( YXCov  

(ii) XY . 

 

 

 

 

 






